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Run 4497 mpswise, accO: All
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Run 4497 mpswise, acc0: Beam ON, Laser ON
%10
300 — 1 —— Helicity==0
u ] — Helicity==
EED __ 1 Entries: 849767
E Mean: 25007 +/- 0.8053
200 — i
| Sbd Dey: 4 0798 &~ 0.0037
B Entries: 833773
150 —
— Mean: 261849 4~ 0.053
[ Sid Dev: 48529 &~ 0.0037
100 —
50—
0 I nl 1 [ I I | L+ v 00
=10 -5 0 5 10 15 20

220
200
180
160
140
120
100
B0
60
40
20

9000

BOOD

7000

6000

5000

4000

3000

2000

1000

=
—
=]

L

Run 4497 mpswise, acc(: Beam OFF
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Run 4497 mpswise, acc0: Beam ON, Laser OFF
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Run 4497 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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Run 4497 mpswise, AccD/NAccO:mpsCoda, beam ON, laser ON
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Run 4497 mpswise, AccO/NAccO:mpsCoda, beam OFF

=] [—
a B
=X -
< B
g 15—
10—
5 [—
N |
L1 ) e oA | A | N i
O
AT B S AR S AT B A R B S S AN R R N SRR N 3 ' n
0 R00 1000 1500 2000 2500 3000 3500
mpsCoda
Run 4497 mpswise, Acc0/NAccO:mpsCoda, beam ON, laser OFF
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